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MARKS: 50

Choose the correct answers:

1.

What is a need for an entrepreneur?
a) Technical skill b) Human relations related skill

¢) Thinking skill d) All of these

Which one is relate to work happiness in an organization?
a) Work satisfaction b) Wasting energy on a piece of work
¢) Be self-centered no output d) Ignorance of the people

Which of these is the achievable personal long term goal?

a) I want to become a GOD

b) I want to own a world properly

¢) I want to become a successful employer in next six months
d) None of the above

Which pair related to success can be the ideal one?
a) Motivation — Spiritual power b) Dedication — Aim achieving
¢) Safety — Management d) All of these

Which one of the following is the assisting element for the right attitude towards
entrepreneurship in life?

a) Development oriented view b) Confidence

c) Both (a) & (b) d) None of these

How is government encouraging in the direction of self-employment?
a) By technical training b) By financial assistance
¢) By motivation d) All of these

One which is related with SWOT is: -
a) Strength b) Word c) Both (a) & (b) d) None of these

Say about the pair exactly showing the meaning of the words of the ecosystem?
a) Eco Relation between organisms and surroundings
b) System an organized scheme
¢) Both (a) & (b)
d) None of the above
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Sort out the aims of occupational safety and health.
a) Up-gradation in physical, mental and social status of the workers
b) Defence from the hazards of adverse effects

c) Healthy working conditions

d) All of the above

An act binds for which of the following: -

a) Formation of ideal conditions b) Interrelation
¢) Both (a) & (b) d) None of these

Which one of the following deduction related provision is in Payment of Wages Act
19367

a) Voluntary deduction b) Absence deduction

¢) Income tax deduction d) All of these

 How can a product pose its own quality by the features?

a) By fineness b) Uniformity ¢) Both (a) & (b) d) None of these

What can be the ultimate production of a process?
a) Product b) Tool c) Both (a) & (b) d) None of these

Which of the following is an achievable personal goal?

a) [ want to become pilot (said by a child)

b) I want to become a superstar (said by a youngster)

¢) I want to complete this project in two months (said by a student)
d) I want to buy a big house (said by unemployed person)

Which sentence expresses your agreement in a group discussion?
a) Let me try to understand your view

b) Personally I don’t think it is like that

c) I accept your view point on this issue

d) Yes, but people don’t actually do such things

Occupational Hazards are a result/ cause of: -
a) Unhealthy conditions of work b) Increasing risk of diseases
¢) Risk of accidents in the factories d) All of these

Common workplace hazard groups identified: -
a) Mechanical Health Hazards b) Chemical Health Hazards
¢) Psycho — social Health Hazards d) All of these

Following is NOT a good working habit: -
a) Reaching earlier from the time of duty ~ b) Observing discipline at work place
c) Interfering in other worker’s work d) Observing safety precautions
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should be the first concern of workers.

a) Importance of safety b) High wages

¢) Minimum time of duty hours d) None of these

is the main cause of accidents.

a) Electric short circuit b) Faulty tools

¢) Un-fenced dangerous machine d) All of these

HIV is caused by: -

a) Bacteria b) Virus c¢) Fungi d) None of these

HIV is transmitted: -
a) Unprotected sex with infected partners  b) Kissing
c¢) Touching d) Sharing food

Small Industrial Development Bank of India (SIDBI) was set up on: -
a) April 2, 2010 b) April 20, 2001 c) April 2, 1990 d) January 1, 1991

Which one of the following is not among the advantages of being self-employed? The
self-employed person is: -

a) Leader of his business b) Independent

c) Able to control his environment d) Not guaranteed of income

Which one of the following is usually not a characteristic of small scale industry?

a) Most of the small scale industries employ less than 10 workers

b) A large number of units are one-person firms

¢) The workers employed in such units are usually organized

d) The growth of small scale industrial activity has been faster than that of large scale
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